
Craven Equipment

Inspired by Adventure Built for Everyday

Bike – Vincent series B & C

This kit holds both panniers and / or topbox.

Included in the fitting kit:-

Part Number Quantity DESCRIPTION

21-5621 2 Bolt 1/4 CEI x 2"

4132-38 2 Shouldered nut

FA1051Q 1 Nut, Nyloc, M6, stainless

FA1457Q 1 Set screw, standard head, M6 x 40, stainless

FA1463Q 6 Bolt, standard head, M8 x 35, stainless

FA1476Q 2 Set bolt, M8 x 20, stainless steel

FA1041Q 2 Bolt, standard head, M8 x 40, stainless

FA1530Q 8 Nyloc nut, M8, stainless

P253 1 Vincent - Centre fixing stainless - frame at front

Rack-VIN 1 Vincent rack - Four black tubular pieces

S1-2Q 2 Nut 1/4 CEI26 - stainless

S19-2Q 4 Plain washer 1/4, stainless

S19-3q 16 Plain washer, 5/16, stainless

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday
Fitting the rack:- Specific notes about your kit

Main kit -

This kit is relatively simple to fit. It comprises four black tubular frames -
● Two side pannier rails, which are handed
● One top rack
● One rear support, U shaped
● A series of fastenings.

Firstly fit the spacer bar and nut assembly through the sidecar mounting hole under the front
of the rear suspension, see Fig 1 and 2, then tighten.

Now to fit the rear ‘U’-shaped support rail. Remove the 2 upper seat pivot bolts from the
back of the seat. Replace the bolts with our two, longer, two inch 21-5621 bolts, ¼” nuts,
washers and sleeve nuts, see fig 3 and fig 4 for location and order of fitment.
Use a thin spanner to hold the shoulder nut in place while nipping up the outside nut. This
will allow the seat suspension to function correctly whilst the stepped nut will allow the U
shaped support to also pivot. The tab in the centre of the ‘U’ should be facing upwards, in
order to attach to the luggage rack later.

Next remove the pillion footrest and attach the side pannier rails, noting that they are
handed, bending outwards from the bike. Use the M8 bolts (40mm and 35mm), nuts and
washers to attach the rail plate to the footrest mount, see fig 5. NOTE Series B Vincents
use the top row of holes in the plate, series C uses the bottom row of holes.

Attach the top side rail mounting point to the sidecar mount using the spacer bar fitted
earlier, using the M8 x 20mm bolt and washer. Then loosely attach the top rack clevis to the
U-shaped rear support centre tab using the M6 screw and nut. Then line-up and fasten the
slotted skis of the rack to the side rails as fig 6.

Tighten all bolts.

Figure 7 shows the completed set-up.

If you have any issues, or your Vincent is not standard, please contact us for assistance.

Fitting luggage :- to fit luggage, please see our ‘General Fittings’ sheet. Contact us if yours is
missing or download from our luggage section on the website.

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday
Fig 1

Fig 2

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday
Fig 3

From outside to in - Bolt, washer, seat bracket, stepped nut, Craven U-shaped
support, washer, lock nut.
Fig 4

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

Fig 5

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday
Fig 6

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

Fig 7

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk


